

January 28

SWBAT:

Use differentiation and  
integration to find power  
series

$$\frac{1}{1-x} = 1 + x + x^2 + x^3 + \dots + x^n + \dots = \sum_{n=0}^{\infty} x^n \quad -1 < x < 1$$

$$\cos x \approx 1 - \frac{x^2}{2!} + \frac{x^4}{4!} - \frac{x^6}{6!} + \dots + (-1)^n \frac{x^{2n}}{(2n)!} + \dots = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n}}{(2n)!}$$

$$e^x \approx 1 + x + \frac{x^2}{2!} + \frac{x^3}{3!} + \frac{x^4}{4!} + \dots + \frac{x^n}{n!} + \dots = \sum_{n=0}^{\infty} \frac{x^n}{n!}$$

$$\sin x \approx x - \frac{x^3}{3!} + \frac{x^5}{5!} - \frac{x^7}{7!} + \dots + (-1)^n \frac{x^{2n+1}}{(2n+1)!} + \dots = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n+1}}{(2n+1)!}$$

$$\begin{aligned}
 \frac{1}{3-x} &= \frac{1}{1+(2-x)} = \frac{1}{1-(-(2-x))} \\
 &= \frac{1}{1-(x-2)} \quad r = x-2
 \end{aligned}$$

find the  
power series  
expansion for  
 $\frac{1}{(1-x)^2}$

$$\frac{1}{1-x} = 1 + x + x^2 + x^3 + \dots + x^n + \dots = \sum_{n=0}^{\infty} x^n$$

$$\frac{1}{(1-x)^2} \quad \frac{x^n}{(1-x)^{n-1}} \quad (x^n)^2$$

$$\frac{d}{dx} \left( \frac{1}{1-x} \right) = \frac{0 - (-1)}{(1-x)^2} = \frac{1}{(1-x)^2}$$

$$\frac{d}{dx} \left( \frac{1}{1-x} \right) = 1 + x + x^2 + x^3 + \dots + x^n + \dots = \sum_{n=0}^{\infty} x^n$$

$$\frac{1}{(1-x)^2} = 0 + 1 + 2x + 3x^2 + \dots + nx^{n-1} + \dots = \sum_{n=1}^{\infty} nx^{n-1}$$

I.o.C:  
 $-1 < x < 1$

Evaluate  
 $\sum_{n=1}^{\infty} \frac{n}{3^n}$

$$\begin{aligned}
 &= \sum_{n=1}^{\infty} n \left( \frac{1}{3} \right)^n \quad \xrightarrow{x = \frac{1}{3}} \sum_{n=1}^{\infty} n \left( \frac{1}{3} \right)^n \left( \frac{1}{3} \right)^{n-1} = \frac{1}{3} \sum_{n=1}^{\infty} n \left( \frac{1}{3} \right)^{n-1} \\
 &= \frac{1}{3} \left( \frac{1}{1 - \left( \frac{1}{3} \right)^2} \right) = \frac{1}{3} \left( \frac{1}{\frac{4}{9}} \right) = \frac{1}{3} \left( \frac{9}{4} \right) = \frac{9}{12} = \frac{3}{4}
 \end{aligned}$$

find the p.s.  
expansion for  
 $\frac{1}{1+x^2}$

$$\frac{1}{1-x} = 1 + x + x^2 + x^3 + \dots + x^n + \dots = \sum_{n=0}^{\infty} x^n$$

$$\begin{aligned} \frac{1}{1+x^2} &= \frac{1}{1-(-x^2)} = 1 + (-x^2) + (-x^2)^2 + (-x^2)^3 + \dots + (-x^2)^n + \dots \\ &= 1 - x^2 + x^4 - x^6 + \dots + (-1)^n x^{2n} + \dots = \sum_{n=0}^{\infty} (-1)^n x^{2n} \end{aligned}$$

I.o.C:  $|x^2| < 1$

$-1 < x^2 < 1 \rightarrow \pm \sqrt{-1} < x$

$\rightarrow x < \pm \sqrt{1} \rightarrow -1 < x < 1$

$$\int \frac{1}{1+x^2} dx = \tan^{-1}(x) + C$$

find the  
p.s. expansion  
for  $\tan^{-1}x$

$$\int (1 - x^2 + x^4 - x^6 + \dots + (-1)^n x^{2n} + \dots) dx$$

$$= x - \frac{x^3}{3} + \frac{x^5}{5} - \frac{x^7}{7} + \dots + (-1)^n \frac{x^{2n+1}}{2n+1} + \dots = \sum_{n=0}^{\infty} (-1)^n \frac{x^{2n+1}}{2n+1} = \tan^{-1}x$$

I.o.C:  $-1 < x < 1$